
B009

www.hotbath.nl

01
02
03
04
05
06
07

SPOM86
SPOM725
SPOM703
Screw M5x30
SPOM709
SPOM718
SPOM717

Afdekdopje
Omstelknop
Thermostaatknop

Afdekplaat/rozet
Huls themostaatknop
Huls omstelknop

01

02

06

04

03

05 07

Model  01/2016 - 12/2019

2016 - 2019



01

03

02
05 04

08

07 06

HB009 V11-01

www.hotbath.nl

01
02
03
04
05
06
07
08

Screw M5x60
Screw M4x8

Model  01/2016 - 12/2019

SPOM 700
SPOM 1421
SPOM 746
SPOM 724 
SPOM  745
Screw M4x55


	B-CB009_19.pdf
	HB009_20.pdf



